P 3 4|2 5 | 6 7 | 8 9 10 N = 13 | 4 | 5
NO . REVISITON BY CH | SUP APPROVED DATE
6 PLACES
EACH LOCATION
A
A
5 PLACES
- J— N
I | -
: a
= ‘=i = L1 T . \
- \ [ | | / / -
C O | | | O C
| p—
FOLD \ \% / FoLD
0 || || | I | j
\ ; 7 \ C | /
~ ' Jo T/ \_o } | _
| |
Y <
| ] | ] — \ |
0 0 0 | 0 ' '
: o © © @ P N/ D
F F
Q LOWER MG| VALVE ASSEMBLY
SCALE 1.000
@ a a NOTES :
4 PLACES 4 PLACES | FOR ASSEMBLY AND INSTALLATION REFER TO PROCEDURE D-NSTX-1P-3637.
- 4 PLACES 2. WELDING SHALL BE PERFORMED IN ACCORDANCE WITH THE REQUIREMENTS
DETAIL A OF AWS DI.6 AND PPPL PROCEDURE ENG-037 . VISUAL WELD INSPECTION SHALL -
|' SCALE 0.375 BE PERFORMED IN ACCORDANCE WITH THE ACCEPTANCE CRITERIA OF AWS DI .6.
3. MAGNETIC PERMEABILITY. FOR S/S PARTS, AS DETERMINED WITH A SEVERN
GAUGE SHALL NOT EXCEED THE FOLLOWING:
BASE MATERIAL: |.04mu
-~ & X MACH INED omy .
WELDED: . Omu
RELEASED FOR
FABRICATION / INSTALLATION
I S sty oo
; \ YT Dt Lewis Mormls mioorisecs G
/ O
O = ~ | 24 NS 15162 FLBOW, 90°. 2.75 OD CONFLAT STN STL
= I | 23 NS 156150 PNEUMATIC VALVE, | /2" PORT, 2 3/4 CF FLG, NDC 301001 OR EQ
24 | 22 NS 51317 /4 FLAT WASHER, REDUCED OD 316 SS
- ]E:: 8 | 2] 151339 3/8 SPLIT LOCK WASHER 316 SS -
— — 0 4 | 20 151333 /4 SPLIT LOCK WASHER 316 SS
8 9 151319 3/8 FLAT WASHER 316 SS
/ 18 151317 /4 FLAT WASHER 316 SS
: ] 7 150812 1/4-28 UNF-2A x 2 LG HEX SOC HD CAP SCREW 316 SS :
£ 6 6 15081 | 1/4-28 UNF-2A x | 1/2 LG HEX SOC HD CAP SCREW| 316 SS
— ) / 8 5 150260 3/8-16 UNC-2B HEX NUT 316 SS
@><3 QO / 14 150258 1/4-20 UNC-2B HEX NUT 316 SS
** =% ) 24 | 13 150070 1/4-28 UNF-2A x |" LG HEX HEAD BOLT 316 SS -
SEE DETAIL A O / 1 150032 1/4-20 UNC-2A x | 1/2 LG HEX HEAD BOLT 316 SS
¢ | | F-EA351 |- MG VALVE BODY ASSEMBLY (UNIV OF WASH) -
FOLD FOLD
N / 0 A-EA3508-7 BOLT INSULATOR - TYPE "B" SEE DWG
‘ I I
\\\\\\\\\~ o o ’/El \\\\\\\\\5‘ ’///J/// 6 9 A-EA3508- | BOLT INSULATOR - TYPE "A SEE DWG
e O m~ | = | 8 F-EA3506-0 | MG VALVE ADAPTER SPOOL PIECE WELDMENT SEE DWG
’po», 1’ ]
ly//\\\/‘ | ] F-EA3504-8 LOWER MG! VALVE SPLIT CLAMP - TYPE "A" G-10 -
' ‘ @)
. SN | @::D | 6 F-EA3504-07 LOWER MG! VALVE SUPPORT BRACKET WELDMENT SEE DWG ©
o ' ' | 5 F-EA3504-0 LOWER MG| VALVE FEED TUBE WELDMENT SEE DWG -
}ZO }ZO 8 4 F-EA3502-10 3/8-16UNC-2A x | 1/2" LG THREADED WELD STUD| 316 SS m
>
: - 0 | 3 F-EA3502-9 #6 SAE FLAT WASHER - MODIFIED SEE DWG —
~ B —
| OTE - TO LOCATE WELD STUDS | > F-EA3502-8 MG VALVE INSULATING SPACER SEE DWG :
SCALE 0. 050 USE ITEM 7 AS A TEMPLATE | | THIS DWG LOWER MG! VALVE ASSEMBLY
NOT SHONNFORCLARTTD _ THIS DWG LOWER MG| ASSEMBLY |
GTAW - SEE NOTE ? : 01 |PART NOMENCLATURE oTY
</6>|; ASSY | NO. DRAWING NO. OR DESCRIPTION MATERTAL | grop
— PARTS LIST —
A CTAW - SEE NOTE 2 COMPUTDERRAWG‘ENNGERATED CENTRAL FILES: PR | NCETONPFE)‘LNACSE%TAQN PUHNY\EE‘FESS\ TLYABORATORY
PREL”V"NARY |SSUE - FOR REFERENCE ONLY WELD STUD VIEW ”“I; o e ey [uncess orheRwisE speciFieD NATIONAL SPHERICAL TORUS EXPERIMENT
(SOME PARTS OM‘TTED FOR CLAR‘TY) pro E DIMENSIONS ARE IN ‘\E‘gHES GAS ‘NJECT‘ON SYSTEM
SCALE  0.500 NOTE: TO LOCATE WELD STUDS MACHINE SURFACES'Y MASS IVE GAS INJECTION SYSTEM
‘] GENERAL NOTES MAGNETIC PERMEABILITY USE ITEM 6 AS A TEMPLATE % "5 SCALING DRAWING | BREAK SHARP EDGES .005/.020 LOWER MG| ASSEMBLY AND INSTALLATION s
| PPPL APPROVED DRAWINGS TAKE PRECEDENCE OVER MODEL DIMENSI|IONS . REQU|REMENT (SEE NOTES) (NOT SHOWN FOR CLARITY) SCALE: TOLERANCES NON-CUMULATIVE |DIV: MECH. ENG. | DATE: 10/20/2014
NEXT ASSEMBLY DECIMAL-INCH | FRACTIONS |ENG:W.  BLANCHARD LAPPROVED
2> WHEN MODELS ARE PROVIDED, VENDOR MUST VERIFY THAT MODEL DIMENSIONS RELEASE LEVEL: WIP EE ETETTI roceseyms BIRRPO E-EA351
CONFORM WITH PPPL APPROVED DRAWINGS PRIOR TO FABRICATION. YES )( NO WELDING ENGINEER O ISR S
DWG VERSION NO: O. 2ppyo Morgan C. Stybr it e vouiar soois |oven 20r s1ro | CHIG W BLANCHARD | GE' | SSFY SHEET | OF 2 |REV 0
— | e | —
| | D | 3 | 4|3 | 5 | 6 7 8 9 | 10 N | S |2 3 | 4 EM |



lmorris
Fab_Stamp


? 3 4|2 5 | 6 7 8 9 | 0 || = 3 | | 4 | 15
NO . REVISITON BY CH | SUPL APPROVED DATE
A
A
SEF DETAIL B
90° ORGAN PIPE AT BAY "F'

5 (SEE DWG E-DC1738) 5

C C
FOLD FoLD

O
D D
L 6 o
N
e ©
@)
JI; bETAIL B
- SCALE 1.000 6 PLACES -
O
O
O
£ 3
G ) S
O
- o o
O,
F
F
O
O
O
G O G
L O
H -
g 5
O
FOLD [FoLD
| o)
¢

o) -

LM

o

o <C

[

o L

—

() 3 - %

—

J J

4 PLACES
|SO \/|EW LOOK | NG FROM THE BOTTOM COMPUTDERRAWG‘ENNGERATED CENTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
- SCALE 0250 MANUAL CHANGES PRINCETON UNIVERSITY
NOT PERMITTED  lUNLESS OTHERWISE SPECIFIED NATIONAL SPHERICAL TORUS EXPERIMENT
ETFASED FOR Pro [ DIMENSIONS ARE IN \@?HES GAS INJECTION SYSTEM
MACH INE SURFACES MASSIVE GAS INJECTION SYSTEM
FABRICATION / INSTALLATION
"l GENERAL NOTES MAGNETIC PERMEABILITY pree. prating: L ewis Morris Sz |7 'BY SCALiNG DRaWING | BREAK SHARP EDGES .005/.020 LOWER MG | ASSEMBLY AND INSTALLATION g
| PPPL APPROVED DRAWINGS TAKE PRECEDENCE OVER MODEL DIMENSIONS. REQUIREMENT (SEE NOTES) SCALE: TOLERANCES  NON-CUMULATIVE | DIV: MECH. ENG. | DATE: 10/20/2014
NEXT ASSEMBLY DEC IMAL-INCH| FRACTIONS LENG: W BLANCHARD LARPROVED
2. WHEN MODELS ARE PROVIDED, VENDOR MUST VERIFY THAT MODEL DIMENSIONS RELEASE LEVEL: WIP I T rosvvepsors EEVRTRII E-EA3511
CONFORM WITH PPPL APPROVED DRAWINGS PRIOR TO FABRICATION. YES NO WELDING ENGINEER -
DWG VERSION NO: O.1 APP\/D:‘ ‘ DATE: ANGULAR +0°- 15 | over 120" +1/,2 | CHIE W, BLANCHARD %VMK SLUMP\/ SHEET 2 OF e REV 0
e ——
| | 2 | 3 | 42 | 5 | 6 1 8 9 | 10 | | 212 3 | 4 e



lmorris
Fab_Stamp


	Sheet 1
	Views
	new_view_1
	A
	new_view_6


	Sheet 2
	Views
	new_view_3
	B



		2014-10-21T09:00:25-0400
	Morgan C. Styer


		2014-10-21T09:29:05-0400
	Lewis Morris


		2014-10-21T09:31:40-0400
	Lewis Morris




